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M S4IsdRA

BE: B4 A2 OHY BB (SUHSEL/SY - 5E)
B FAMD =L E S (&9 &&)
SA - HE - SR(EH) - NRAY - BES 0l &t e DS
03 AIHMFIH2FAY| 1,000 1,000 0
At 2te| =4 1,000
207 S OHEH 1,196,650 828,850 367,800
03 AlE &4 1,196,650 828,850 367,800
Oss2ces7Y 1,500,000& 12 18,000
OES=AE2YH] 854,150
O:[ =N X=1 16,0002 * 110X 365 642,400
OZ=MZ 550 *5505 +5kg* 140! 211,750
OXS M EXHP2 LY 1,000,000 x5&*122 60,000
EExcissE e 70,000
OfXNgHlsss=7Y 4,500,000& 85 36,000
t=E7Y 48,000
OES=RAH =4 50,0002 505 2,500
Oetdegdlssay 4,000,000& x25 8,000
SEXMclAS Y 2,500,000 x25& 5,000
OHXels=34dBH=57E 35,000
O34HM, 7= S 25,000
OxBE, =213, JIMM S 10,000

DYSE2NL S NBATSARTY

12,000& *5,000% 60,000
405 XtotE SHI 25,000 30,000 25,000
01 L SESFHSHI 25,000 30,000 25,000
OsJiA 7 25,000
Ol 10,000,000 * 1 CH 10,000
OMHl A D] 15,000, 0002 *1CH 15,000
=M =E3 31,740 45,360 213,620
201 LEHRHH| 16,240 29,860 213,620
01 AtR2teld 16,240 17,860 A1,620
pget=ZH| 12,000

2=llsnsHIRol 10,000& 2005 2,000

O
OFMANEARE DN L SIS I M &
20,0003 5005 10,000

Oeg+g 4,240
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A B RA
M 4 ADE N 23 (s
H

Ciol: B2 PR EEHAZNE T CLE-ED
SN HB G (BH) - MRAY - BES 0l & e Hlm= 2
02223 2 HA 118,340
O=3=2(Ez 832, 3l8AME28) 21,600
OdIlg 84,000
OXEN & B8z S 8,000
O3JItE A ==Z 300,000& *3& 900
OEH, SZMNEURESS 3,000
OHJI=2™eld] 70,0003 x12& 840
O =H| 150,000
OARa & AL 150,000
OAIE &8l = XYl 49,840
Oz= £ =M 15,000
O=J1H &I 20,000
OAE&EHIs Xl 5,000
OfelBHANAE 2 420,000 * 123 5,040
OZHOI X RAE= 400,000& 128 4,800
CIXb k4 B 35,000
Os8X S 35,000
O3S 2zl 1,500
OXgdl & 457 1,500
202 Oddl 14,000 13,920 80
01 =Wobl 14,000 13,920 80
OHPOHNLHE XA F=E A 14,000
203 HRF&H 1,000 1,000 0
03 AEZFAHRFLH| 1,000 1,000 0
O LA EHARFE 1,000
301 YotEaz 6,375 15,963 A9,588
09 BUZIRRIALLZ 6,375 15,963 A9,588
&4l 5,000 x5% 255 6,375
307 glztold 102,600 52,000 50,600
05 QIztEZ 93,600 42,000 51,600
OEAMEALAEY 2,500,000& =123 30,000




A Sz 2

Ani e dols NY BB (HHHLN /Y - 5E)
Tl BAD|EPHLEERALK R (crol: & 2)
SN HB SR (BIH) - A - B S sk oy e 2

OFJ| &t 2te| =24 1,100,000 123 13,200
J3dls9 4,200,000& «12& 50,400

06 23 9,000 10,000
OstHEg = 9,000

405 XHAHE S| 41,250 36,000

01 XA ESEH=HI 40,250 35,000
OAIRE d4AEH WX 10,250
OLEE PC 2,000,000& = 1CH 2,000
OPC(=Hl) 1,000, 000& *5CH 5,000
OHFZULIH 450,000& »5CH 2,250
Odlol = el H 500, 000& »2CH 1,000
Ox(st=) 2 30,000,000 = 1CH 30,000

02 SN 1,000 1,000
O =N2ENMFPS 20,000& 503 1,000

2 HAH(SAI=H722)(OIEHIIE 1,633,031 1,627,467

23| 1,559,571 1,550,517

A2 1,559,571 1,550,517

101 el2iH] 1,467,311 1,464,737

01 JI=a 543,834 546,139
OASH 59,852
O4= (285 E) 59,852,000 x1H 59,852
k== 446,752
Ob= (2718 8) 2,896,100 x1Z « 123 34,754
o= (1658) 2,121,500 *4H 12 101,832
Oor=(1288) 1,715,600 x1Z « 123 20,588
O8= (85 =) 1,330,900 x1H x12& 15,971
OAHI2(1758) 3,013,800 x1&E ~ 123 36,166
OHFAH2BEE) 2,329,900 x2H 123 55,918
OJls82(2188) 1,888, 100& x5 123 113,286
OJls9=2(1288) 1,289,900 x1H x 123 15,479
OJls1=24ss) 879,300 x5+ 123 52,758




EAM: SAI|sH72A
M HH2IFU(FAI=H2L)(IIEHIIE
Crol: ol oty) CLE-E
A BB O(B) - NEAY - BAS Of o e Hl R =2
&= 37,230
(OFSE=E =y 446,752,000& +1/12 37,230
02 =% 138,864 172,740 A 33,876
OAIZIRI 22 =H 71,152
OF<ELE 8,312 x21H *10Al 2+ * 12 *1 20,947
Ox= 8,312 x21H #15A| 2h* 123 1 31,420
Osgz2=f=g 62,6153 x10%H 30 18,785
OXE=¢ 18,428
Ot Xt 40,0003 228 0. 78«12 8,237
OJIEDE 20,0002 22 *1.48+12& 7,815
o=z 30,000& »22H +0.30x12& 2,376
OXA &l =2 6,415
OssM 51,400 x22%H *0. 19%4 3] 860
OQLNS&EM 420,790 x22H %0, 15%4 3] 5,555
Hd2GItat3 21,720
025 0] & 130,000& »2H x 12& 3,120
Q204014 - 25 0| et
110,000& *5H = 12& 6,600
O1540l4& - 20&0( ¢t 80,000 x7H 122 6,720
O1040l4 - 1540| et 60,0003 x4H «12& 2,880
O5E 04 - 10&0/¢et 50,0003 »4H » 122 2,400
FE2RE 40,0003 x22H = 12& 10,560
O3 989
ora(12gs)
1,715,600 1 *4,8/100% 12 *1 989
Ml=gf=+g 1,920
O4-558 50,0003 x2H = 12& 1,200
o678 30,0003 »2H «12& 720
o ggesg 70,0003 x4H x 122 3,360
g exd 80,0003 x3H x12& 2,880
ot zte| R+ 480
Ok = 10,0002 1 x 12 120




SN SADEARL
B B2 AAH (S| STA)(IEHIIE)
CHel: o2 2ol (S92l &8
SN EB -GS - MBAY - BES 0 & 24 e HRE2
SEB] 30,0008 12128 360
ONSHedLIH YR+
40,0002 x2% » 12 960
03 HoAZAlH| 43,680 43,680 0
Om U Z A 130, 0002 %28% * 122 43,680
04 DEFEH| 33,360 31,680 1,680
BInEEES] 33,360
04-53 140, 0002 +3% * 122 5,040
0673 130, 0002 *8% » 122 12,480
082013t 120, 0002 #112» 122 15,840
05 HEEIIH| 46,676 45,044 1,632
BEEEST] 466,752,000 1.2/ 12 46,676
06 b X2 77,948 75,072 2,876
mb[S pYLT] 466,752,002 %0. 167 77,948
07 St 26,738 26,504 234
OO Al 506,604,000 %1/12x1/30% 192 26,733
08 JIEIE B4 241,252 212,967 28,285
o122 219,513
ouz 4,014,910 %1% » 122 48,179
oCra 3,056, 1602 x22 + 12 73,348
O2ta 2,721,830% +3% * 122 97,986
Oots+g 5,027
Ot 2t 40,0002 +62 0. 78+ 122 2,247
OJIEDIS 20,0008 +62 1,48+ 128 2,132
Oz 30,0002 ¥624%0. 3+ 12 648
CXHA sl g 1,750
Oty 51,4002 %62 +0. 19%43] 235
Onssy 420,790+62%0. 15+43] 1,515
A 2R4E 4,962
omuE 8,312 +621 +10AI b+ 122+ 1 5,985
OET 8,312 4621 ¥ 15AI 2h» 128+ 1 8,977
09 PIHA2ERES 314,959 310,911 4,048




M SAI=ARL
Y HHHAH(FLI=A2L)(IIEHIIE
£l el 2|
SN HB SR (BIH) - A - B S 01l &k o S
- T ° - [EEMREECES &= 0:”/.:"%
2= 153,441
OFEAM22E 38,8503 »1H #2552 9,907
OFAZHIA 46,0702 x1H 255 11,748
OsJIH2d& 51,7703 x6H «255 79,209
O&IIE 3 50,7803 x1Z 255 12,949
OMESEX 38,8503 »1H #2552 9,907
OAret2te] 38,8503 »3H 2552 29,721
O&c= 153,441,000 *1/3 51,147
O=&=4 31,293
O& A2 A 38,8503 1«52 2,021
OEAMBHIE 46,0703 »1H x52 2,396
OsJIH2HE 51,7703 +6& 522 16,153
OFSPIN:| Pk, 50,7803 »1H «52 2,641
OAMEE=X 38,8503 x 1«52 2,021
OAt2tel 38,850& x3H 52 6,061
Ooxt=¢ 11,144
OFE A& 38,8503 x1H+17 661
OFAZHIA 46,0703 »1H»20 922
OsJlH2Hd 51,770 x6 % 20 6,213
O&IItE 3 50,7803 1 20 1,016
OMNEE=X 38,850 x1H « 156 583
OAretzte] 38,8503 x3H 15 1,749
OAIZt2 22 29,073
OF A2 &
38,850 x 1 *1.5/8+20A1 2+ 12& 1,749
OsJIH2HE
51,7703 x6H x1.5/8x25A1 2+« 128 17,473
OHIIHE S
50,7802 x1H x1.5/8+25A1 2t x12& 2,857
OAMEEX
38,850 x 12 *1.5/8+20A1 2+ 12& 1,749
ONg a2l
38,8502 x3H *1.5/8+20Al 2t+ 12& 5,245
052 2,765




M SAI=ARL
Y HHHAH(FLI=A2L)(IIEHIIE
chol: o2l 2ot (et9l: &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
OB MBHI# 46,0702 x1H +1.5%40 2,765
LIl =4I 200,000& 13 2,600
12kl 2,000 «13H +82|x 122 2,496
42 30,000
Os&0 1,000
203 HRFL&H 13,420 13,120 300
01 JI22dPRF=L& 3,300 3,000 300
Oa% 3,300
02 FHIMFRFEY 1,120 1,120 0
O J A &2 A 40,0003 »28% 1,120
04 REA2ILRFIH 9,000 9,000 0
(1150l ot 250,000& «3H 2 A x 12 9,000
204 AP AH| 72,120 72,660 A 540
01 HAMSHRAAH 7,200 7,200 0
OAaZ 400,000 x 1«12 4,800
O, A& 100,000& x2H x 12 2,400
02 Ag22H 49,920 50,460 A540
4= 400,000& x1H«12& 4,800
Oss, ALA LS 250,000 38 123 9,000
Lle=, A2 A H A ChE
155,000& »8H «12& 14,880
L7, A2ets 140,000 +4Hx12& 6,720
[18-9=(71s8-92) 105,000 7+ 122 8,820
oIs10=2 95,0003 x5 «12& 5,700
03 SHYR-HESH 15,000 15,000 0
CICHel & Sl 50,0003 x5 x12& 15,000
303 Eiaz 6,720 0 6,720
01 Z&3 6,720 0 6,720
Ogs0t B9 80,000& »7H+12& 6,720
=3l 73,460 76,950 23,490
Jl2&H| 73,460 76,950 23,490
201 et 63,460 65,450 21,990
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